R
B&TY  igh Hoc kit
<~ R110-9600

Details
Includes 1 ea.: R120-0404, R120-0405 & 2 ea:

R112-7451, R322-16, R445722 & 4 ea.: R106-9758,
R104-8300, R453011, R104-8301 & 8 ea: R106-3925

Replaces
Toro 110-9600

Specifications
Manufacturer R&R Products

Fits Models
R&R Products Reel Max 744D

Toro Reelmaster 3100-D
Toro Reelmaster 3550-D
Toro Reelmaster 3555-D
Toro Reelmaster 3575-D
Toro Reelmaster 5010-H
Toro Reelmaster 5210-D
Toro Reelmaster 5410-D
Toro Reelmaster 5410G
Toro Reelmaster 5510-D
Toro Reelmaster 5510-G
Toro Reelmaster 5610-D
Toro Reelmaster 6500D
Toro Reelmaster 6700D
Toro Reelmaster 7000-D
Toro Reelmaster 3105-D

Replacement Parts

R104-8300 Locknut - 5/16-18
Flanged Y/Zinc
R104-8301 Locknut - 3/8-16 Nylon

0O.J. Company
294 Rang St-Paul Sherrington, JOL 2NO
450-247-2758

https://ojcompagnie.rrproducts.com/




A
%Bfg High HOC Kit
~g®  R110-9600

Flanged

R106-3925 Shim - 1/4 - Rear Roller
HOC

R106-9758 Bolt - Carriage 5/16x4

R112-7451 Bolt - Hex Tap 3/8-16 x
2-3/4

R120-0404 Bracket- High HOC - LH

R120-0405 Bracket - High HOC -
RH

R322-16 Bolt - Hex HD 5/16-18 x
1-1/8

R445722 Nut - Serrated Washer

R453011 Washer - Flat 3/8 SAE
Y/Zinc

O.). Company
294 Rang St-Paul Sherrington, JOL 2NO
450-247-2758

https://ojcompagnie.rrproducts.com/




